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(@) AU 2UasHl Galon-l (sl

(b) ielBls Gauler s ved 9 2 elBls Gauled Hisl AL 241 dui el
Hulelvll wudl.

2. oRdHl A8l Halel 2 qaieddl Al 14
vl
(a)  ouRdl teldatul vioflanig Hera 23l

(b) *RAHL 2N dul viellastiAl GaldlAl AU uds dal RAXUILHL Sl
CLIRIR

3. ctRdld ddail AdL &l o5 w2l 14
2
MURAML AL AdelRAL Yoy @3l wRudl, Azl AR &l addl uaila wual.

4. (a) RBd s1MeRld qollsel AxaAdl. 14
(b) A3 &l Hetd AHAdl.
2
w0105 2l sl weudl, dadl Aadl de-l woidl yadl.
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5. Al [aseu yde s 14

(1) Ul WLl 25 e AseL Hulel . (2 53, 3 $U3)
(2) el Gellotl M-l [ug A ¢9.
R»d ols, 20aiBis [asn ols 205 s
(3)  VdRMAvLAL GaldLL 9. (oL, 218L)
(4)  SRAHL ALY 20asHl UEURLS Aol S AdL &AL S0 sdl 6.
(a4, 1ie91)
(5)  IRds vitollast, nda-l uvuHelui AEL Y w .
(a4, iiedl)
(6) SURAML 195141 20 ALSALAL vl sHIAL edl. (5, 10)
(7) ¥dl &t 2llMl Ay Hig eld .
(Aol [aslud, ay [asliq)
8) eRdly 3ed AL eq YR . (uaH, o)
(9) s AdelRl A3 Hi 4 €. (1920, 1947)
(10) ®1IRdAHL vy gl €. (10, 11)
(11) B0 ALSIR AL usi 9. (61, 1.l
(12) UMl 2423, &L, A3 & 5l AUl uzl W .

(a4, iiedl)

(13) “@RA0Ud UgMpl SHAL A SIULAR Sld 9.7 2L ALSA
(U3, 9., Vg €9.)
(14) MURdHL Hi dgAH ddt 4Rl 83D AL Sl (1948, 1950)
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Instruction :  All question carry equal marks.

1.  Explain the importance of small and cottage industries in the Indian economy and
discuss the steps taken by the Government to solve these problems. 14

OR
(a) Share of Industries in National Income.

(b) What is industrial production index ? Describe the formation and the limitation of
industrial. Production Index.

2. Discuss the significance and limitations of Public Sector in India. 14
OR
(a) Explain the importance of private sector in Indian economy.

(b) Give the contribution of public and private sector industries in National Income
and employment generation in India.

3. Discuss the role of service sector in Indian economy. 14
OR
State main forms of communication in India and describe the progress in the field of
Communication.
4.  (a) Explain the classification of labourers of unorganized sector. 14

(b) Explain the importance of unorganized sector.

OR
What are the problems of unorganized labour ? Suggest some measures to improve
their welfare condition.
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5. Choose the correct option :

(1) Investment limit for small scale unit is . (2 crore, 3 crore)
(2) is the parent organization for small scale industries. (RBI, IDBI)
(3) Infrastructure industries are . (two, three)
(4) In India contribution of industrial sector in national income is than that

of the service sector. (higher, lower)
(5) Private sector in the India employed people than the public sector.

(more, lesser)
(6) The number of public sector unit in 1951 in India was . (5, 10)
(7) Service sector is larger in

(less developed countries, in developed countries)

(8) Indian railway possesses rank in Asia. (First, Second)

(9) Air route in India was started in . (1920, 1947)

(10) There are main ports in India. (10, 11)

(11) There are the types of water ways. (Two, Three)

(12) Unorganized sector employs workers than the organized sector in
India.

(more, less)
(13) “Unorganized sector activities are always illegal.” This statement is
(true, false)

(14) Minimum Wages Act in India was formed in . (1948, 1950)
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